Multiplizieren Sie Dezimalzahlen mit

Zehnerpotenzen

Name: Datum: Ergebnis:

8,16 x 1000 = 2,613 x 1000000 =

10, 026 x 10000 = 9,73 x 1000000 =

7,261 x 10 = 2,839 x 100000 =

1,341 x 100000 = 7,264 x 10000 =

1,046 x 100 = 2,743 x 1000 =

9,023 x 10 = 1,221 x 1000000 =

9,069 x 100000 = 1,016 x 100 =

5,858 x 100 = 4,738 x 10 =

6,494 x 100 = 3,071 x 100 =

4,375 x 10 = 1,566 x 10 =
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Multiplizieren Sie Dezimalzahlen mit
Zehnerpotenzen

Name:

8, 16 x 1000 = 8160

10, 026 x 10000 = 100260

7,261 x 10 =72.61

1,341 x 100000 = 134100

1,046 x 100 = 104.6

9,023 x 10 =90.23

9, 069 x 100000 = 906900

5,858 x 100 = 585.8

6,494 x 100 = 649.4

4,375 x 10 =43.75

Datum: Ergebnis:

2,613 x 1000000 = 2613000

9,73 x 1000000 = 9730000

2,839 x 100000 = 283900

7,264 x 10000 = 72640

2,743 x 1000 = 2743

1,221 x 1000000 = 1221000

1,016 x 100 = 101.6

4,738 x 10 = 47.38

3,071 x 100 = 307.1

1,566 x 10 = 15.66
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